pr.ese CEEIAEIEEY »P.740 €2EEED »P.740

% (M)
AR | iR | 7HE w | x vy A fift 2> M = 7EmF ﬂa;_ﬁ :7'5’171[: sSuUS ﬁ 2017 POM
pEEES OA-t|=Zwéi| 20 A201
#B | L |¢D M | OHEES Kok | xux |xnx| 204 | 3160 A0 (a8
c u ] N sl (K] A X
6] 25[15] 8 [ 3] 9 [M26x8[SCS 1006 620 — 750 — | 1,180 — — B
10] 30/15] 9 | 5[11 | M4x12[SCS 1010 560 680 690 690/ 1,050/ 1,490 500/ —
10 12| 28/15| 9 | 5| — |M4x12[SCS1012[] | — - - - -~ - - 770
12| 30/15| 9 | 5[11 | M5x16 |SCS 1012[] 560 — 690, — | 1,050 — - -
15| 35/15[10 | 6 [12.5 M6x18 [SCS 1015 560 — 690, — | 1,050 — - -
6| 25/15/ 9 | 3| 9 [M26x8|SCS 1206 620 — 750 — | 1,180 — - -
10| 30[1.5[10 | 511 | M4x12 [SCS 1210[] 570/ 680 690 690/ 1,070/ 1,490 500/ —
12(12] 30[15[10 | 5[11 [ Mm5x16[SCS 1212[] 570 — 690, — | 1,070 — - —
12| 30/15[10 | 6] — [ m4x12[sCs1212[] | — - - - — - - 820
15| 35/15[11 | 6[12.5 m6x18 [SCS 1215[] 570 — 690, — | 1,070 — - =
8] 28[1.5]11 | 3[10 [ M3x8 [SCS 1308 600 — 750 — [ 1,070 — - -
1310/ 30[1.5]10 5[11 | M4x12 [SCS 1310[] 600/ 740/ 750/ 750/ 1,070 — 500, —
12| 30[1.5[10 | 6| — | M4x12[SCS1312[] | — - — - — — - 820
15| 35[15[11 | 6125 M6x18 |SCS 1315 600 — 750, — | 1,070, — - -
8| 30[1.5/11 | 311 | m3x8 |SCS 1508 670 — 830 — | 1,180 — - -
10] 32[15[11 | 6[11 [Mm4x12[SCS 1510[] 670, 820/ 830 830/ 1,180 1,610/ 520/ —
15112 35[15]12 | 613 | M5x16 |SCS 1512 670 — 830 — | 1,180 — — -
12| 35/15[12 | 6] — | M4x15[SCS1512[] | — - - - - - - 990
15| 40/15[13 | 8[13 | M6x20 |SCS 1515[] 670 — 830 — | 1,180 — - -
15| 40/15[13 | 8] — | m5x20 [SCS 151500 | — - - - — - - 990
8] 30[1.5[11.5] 311 [ M3x8 [SCS 1608 670 — 830 — [ 1,180 — - -
10| 35[1.5[12 | 613 | M4x12 [SCS 1610 670 820 830/ 830/ 1,180 1,710/ 520/ —
16 12| 35/1.5(12 | 6[13 | M5x16 |SCS 1612[] 670 — 830 — | 1,180 — - —
15| 40/15[13 | 8[13 | M6x20 |SCS 1615[] 670, — 830, — | 1,180, — - -~
15| 40/15[13 | 8] — [ m5x20 [SCS1615[] | — - - - - - - 990
17[15] 40[15[13 | 8[13 | M6x20 [SCS 1715[] 810 — 930 — [ 1,370] — - -
18[15| 45/1.5[15 | 8|15 | M6x20 |SCS 1815 ] 810 — 990, — | 1,370, — — —
8| 35/15[13 | 5/13 | mM3x10|SCS2008 ] | 810 — 990, — | 1,370, — - —
10| 40/15[14 | 7[15 | m4x16 [SCS 2010_] 810/ 950, 990/ 990/ 1,370 — 690, —
2012 40[15[14 | 7|15 | M5x16 [SCS 2012 810| — 990 — | 1,370 — - -
15| 45/15[15 | 8[15 | M6x20 [SCS 2015[ ] 810| — 990/ — | 1,370 2,530 — -
15| 491516 | 8| — | M5%x20 |[SCS2015[] | — — — - — — — | 1,040
10| 42/1.5[16.5] 5 16.5 M4x12 |SCS 2510 920/ — | 1,150 — | 1,730 — - E
o5 12| 45] 1.5[17 7 [18 | M5x16 [SCS 2512[] 920| 1,120/ 1,150/ 1,150| 1,730 — 770, —
15| 50/1.5[18 | 10 [18 | M6x25 [SCS 2515 920/ — | 1,150 — | 1,730| 3,080 — —
15| 54/15[20 | 6] — | M5x20 [SCS 2515 ] | — — — — — - — [ 1,150
28[15| 55/1.5[20 | 10| — | mM6x25 [SCS 2815 ] | 1,030/ — | 1,420 — | 2,080, — - =
12| 50/15[20 | 6| — | M5x16 |SCS3012[] | 1,030 — | 1,420 — | 2,080 — - -
30(15| 55/1.5/20 | 10| — | mex25 [SCS 30151 | 1,030 1,310/ 1,420| 1,420 2,080 3,460 1,150 —
15| 60/ 1.5[21.5] 8] — | M5x25[SCS3015[1 | — - - - - - — | 1,260
32(15| 60| 2 |23 |12 | — | MBX25 |SCS 3215 ] 1,150 — 1,590 — 2,510, — —_ —
35 112| 55[2 [225 6| — | M5x16 [SCS3512[] | 1,150 — [ 1,590 — [ 2,510 — - -
15| 60/2 |23 | 12| — | mMex25 |SCS 3515 | 1,150| 1,420/ 1,590 1,590/ 2,510 3,820 1,200 —
3818] 70[2 [26 [ 13| — | m8x30[scs3s18] | 1,280 — | 1,800 — | 3,490 — - -
4012/ 60/2 25 | 7| — [ M5x16 |SCS4012[] | 1,290 — | 1,800] — | 3490 — - —
18] 70/2 [26 | 13| — | m8x30 [SCS 4018( ] | 1,290 1,640/ 1,800| 1,800/ 3,490 6,220 1,370 —
4512 65/2 128 | 7| — | M5x16|SCS4512(] | 1,420 — | 2,240 — | 3,710 — - —
18| 75/3 [28 | 14| — | m8x30 |[SCS4518[] | 1,420 — | 2,240] — | 3,710 — - -
15| 75/3 [30.5] 12| — | Mex25 [SCS5015[] | 1,750] — | 2,200 — | 4,690 — - B
50[18] 80/3 [32 | 13| — [ M8x30[SCS5018[] | 1,750] — | 2,290 — [ 4,690 — - -
22| 85/3 [32 [ 16| — [M10x35/SCS5022( | | 1,750] — | 2,290 — | 4,690/10,360| 1,590 —
55/22| 90/3 [34 [ 18] — [mM10x35/SCS 5522 | 1,860 — | 2,840 — | 6,330 — - -
60 /22| 953 [37 | 18| — [M10x35/SCS 6022 | 2,020/ — | 3,0600 — | 7,420, — - -
65[25/105/5 [40 | 18| — [m12x40[SCS 65251 | 2,950 — | 4,360 — [ 9,810] — - -
70/25/110/5 [43 [ 18| — [M12x40[SCS7025[ ] | 3,380 — | 5,240 — [10,900] — - —
_75]25[115]5 |45 | 20| — [M12x40|SCS7525(] | 3,550| — | 5450 — |11,990] — 5 =
80132/130|5 |50 | 22| — [M16x50/SCS 8032 | 3,930 — | 7,630, — 15,260 — - -
8532/135|5 [525/ 23| — |m16x50/SCS 8532(] | 5450 — | 8,720 — [16,900] — - -
90[32[140[5 |55 [ 24| — [m16x50[SCS 9032 | 6,000 — - - — - - -
10036/150/5 [60 | 26 | — |[M16x50/SCS 10036[ 1| 6,760 — - - - - - -
110.36/170| 5 |70 | 28 | — |M16x50/SCS 11036[ | (10,900 — - - - — - —
120/36/180/5 |75 | 30 | — |[M16x50/SCS 12036 1/11,990| — - - - - - -

PZEpB5LL EITEFD IR TVHBE AL ERA.

iwarta



